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CBT Practice test model answers

Accounts Preparation I (API)

Practice assessment 4

Section 1

Task 1.1

[image: image2.png]Extract from non-current assets register

Description rrying Funding
rial Number method

Furniture and fittings

Filing racks 311105 83260 Cash

Vear end 311036 124.89) 707.71

Vear end 3110307 12489 58282

Boardroom table 24106/X6 925 Loan

Vear end 311037 13875 78625

Motor vehicles

1.6 lire car

o5 ke loosixs | 10.600.00) Part-exchange

Vear end 311035 2,650.00 7.950.00

Vear end 311036 1,987.50) 596250

Vear end 3110307 il nil 5340 | 231096

1.8 ire van

o0 Aoy loto3xs | 10.400.00) Part-exchange

Vear end 311035 2,600.00 7.800.00

Vear end 311036 1,950.00) 585000

Vear end 3110307 14625 43875





Task 1.2
[image: image3.png]Disposals.

[BComputer equipment at cost
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[Computer equipment accumulated depreciation
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Task 1.2, continued
[image: image4.png](c) Calculate the purchase cost of the new computer equipment from the information above.

& [s30

‘The computer ro0m has been rewired to accommodate the new computer equipment. The work was done by
employees of the business. Onthe same day, the air conditioning in the computer room was repaired by outside
contractors. The costs were as follows:

+ Wages to rewire computer room: 2220
+ Materials to rewire computer room: 2430

« Computer room aif conditioning repair:  £170

(d) Whatis the additional cost to be recorded as capital expenditure? Choose ONE answer.

il





Section 2

Task 2.1

[image: image5.png](a) Complete the following statements:

On 01/041X6, the commission receivable account shows an opening [debit JRgl] balance of £ [2400

On 31/03/X7, the commission receivable account shows an adjustment for

[emsameome ] o ¢ [

(©) Calculate the receivable for the year ended 31/03/X7.

£ [2es50





Task 2.1, continued
[image: image6.png](c) Update the administration expenses account for this, showing clearly the balance to be carried down.

Administration expenses

[Bank 12580[Balance big 1990)

[Batance cia 10590

ialkalial
A[Alla]

v

12580 12580/q

You now find outthat there s an unpaid bill of £1,185 for secretarial senices for the three months ended 30 April 20X7 that
has not been included in the accounting records. Secretarial services are classified under administration expenses

(@) Complete the following statements:

dusing ortris wil ine ol aaministraton xpenses four ransiere o he income sttementorn e

The adjustmentis £ [720

Adminitaion expenses wil showas a inthe income statement accountin e gneral edger.






Task 2.2

[image: image7.png]Extract from the trial balance as at 31 March 20X7:

Accrued income

Ledger
balance

£

“Trial balance

or

£cr

vi[vi[vi[vl[v][V][V][V][V][¥]

Bank 6074
Drawings 25000 26000
Internet and felephone costs 1450
Inecoverable debls 230
Loan nterest received 50 50
Loanto elative 2000 2000
Prepaid expenses 135]
VAT 4299)
Vending machine income 2010)





Task 2.3
[image: image8.png](a) Travel expenses of £620 have been posted to the vehicles at cost account in error. The other side of
the entry s correct.

Journal

[Travel expenses 620

[Vehicles at cost 620)

(b) Office repairs costing £84 were paid for using cash. Only the credit side of the double entry
‘was made.

Journal

[Repairs and maintenance 84

[suspense 4]





Task 2.3, continued
[image: image9.png]{c) No entries have been made for closing inventory as at 31 March 20X7. It has been valued at sales
price of £17,820. The sales price of goods is always 20% higher than the cost of those goods.

Journal

[Closing inventory - statement of financial position 14850

[Closing inventory -income statement 14850

(d) Discounts allowed of £2,290 have been posted on both sides of the double entry as £2,920.

Journal

[Sales ledger control account 2020
[Discounts allowed 2920
[Sales ledger control account 2290|

[Discounts allowed 2290





Task 2.4
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Task 2.5
[image: image11.png]Use the following table to show the THREE adjustments you need to make to the cash book.

Amount
£

MR

Debit  Credit

lAdustmentfor (1)

[Aqustmentfor (3)

[Aqustmentfor (6)





Task 2.6

[image: image12.png](a) Of the following, which ONE provides the best example of an application of the accruals concept?

The valuation of inventory at the lower of cost and net realisable value

“The classification of an tem of low cost as revenue rather than capital expenditure,
even thougn it has 3 lfe of more than one year

“The wrting off o an irrecoverable debt afer a customer has gone out of business

“The witing off of the cost of a non-current asset by using depreciation

(b) Which ONE of the following would be found in the general ledger?

Sales ledger control account

Sales day book

Individual sales account

‘Sales order book






